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8 x9 = 2x9= 4x9= 3x9=
10 x9 = 3x9= 10x9 = 6x9=
8 x9 = 7x9 = 9x9= 10 x9 =
4x9 = 3x9= 10 x9 = 8 x9 =
3x9= 4x9 = 2x9= 4x9=
1 x9= 3x9= 6x9= 5x9=
6x9 = 4x9 = 5x9= 8 x9 =
5x9= 3x9= 6x9 = 1 x9=
9x9 = 6x9= 8§ x9 = 4 x9 =
3x9= 4x9= 3x9= 8 x9 =
2x9= 3x9= 9x9= 6x9 =
10 x9 = 5x9= 6x9 = 8 x9 =
1 x9= 9x9 =

www.snowmath.com


https://www.snowmath.com

FA9 e A

LOLLAABRTE-2IE LAY (507T)

w4

8§ x9 =72

10 x9 =90

8x9 =72

4 x9 =36

3x9=27

1 x9=9
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3x9=27

6 x9 =54

10 x9 =90

8§ x9 =72

4 x9 =36

5x9=45

8x9 =172

1 x9=9

4 x9 =36

8x9 =172

6 x9 =54

8§ x9 =72
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